HENHEFYT

(RnELY - #EENEFY)

F M ZE( )
(1) 25X8X4 (7) 8X4X25
2) 67+5.3+4.7 (8) 8X|25X85
3) 87X25X4 @ 35+65+4|
4 76+8.3+1.7 (10) 8X5GX |25
(5) 62+88+12 (1) 38+68+62
6) 8.8+52+1.2 (12) 66X8X |25
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HENHEFYT

(RnELY - #EENEFY)

(1) 2DX8X4
= (25X4)X8
= |00X8

= 800

2) 67+5.3+4.7
= 67+(5.3+4.7)
= 67+10
=77

(3) 87X25X4
= 87X (4X25)
= 87X 100

= 8700

@ T76+8.3+1.7
= 76+(8.3+1.7)
= 76+10
= 86

(5) 62+88+12
= 62+(88+12)
= 62+100
= 162

6) 8.8+52+1.2
= (8.8+1.2)+52
= |0+52

= 62

& ( )

(7) 8X4X25
= 8X(4X25)
= 8X 100
= 800

8) 8X125%X85
= (8X125)X85
= | 000X85

= 85000

@ 35+65+4 |
= (35+65)+4]
= 100+4 |

= 4]

(10) 8X59X |25
= (8X125)X59
= | 000X59
= 59000

(1) 38+68+62
= (38+62)+68
= |00+68
= 168

(12) 66X8X |25
= 66X (8X125)
= 66X1000
= 66000
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